FIF7b OFF-weekly Exam                           	  

For Question 1-3 Identify the equation the represent the graph.
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For questions 4-5, identify the graph that match the equation.
4.       
                                 
5.  
[image: ]        A                                               B                                            C                                              D
For questions 6-10. Identify which statement are True (A) or False (B) according to the following graph. Explain or prove why all the false answers incorrect using your mathematic terms and knowledge. Provide the correct answer.  If you don’t write the explanation the problem will be incorrect.
6. [image: ]The graph has a negative slope.
7. The vertex of the graph is (-1,-3)
8. The equation of the graph is 
9. The solution to f(5) is equal to -1
10. The coordinate (-4,-2) is located on the graph 

11. Identify the equation from the graph:
[image: https://lh5.googleusercontent.com/swKr5jolPo8TDDFZgkWFxRFubsHUPN3D4rgSTgeTO08hfbanX7AMTXUtk9LpYOypQOZgPH_AUR3wwD2B2uq9zNfdK7hnqFoz9fAWCdutX37kgPNRiYxicWDP3-aAo1HhsEYgM1XYcYY]
12. Identify the equation from the graph:
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another point: x = 0 is one step to the right of the vertex, so one step to the left of the vertex
(x=-2) will also equal — 1_—3
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Looking at our graph, we totally could have picked x = 4 to multiply the fraction away, making
everything a zillion times easier. Confound our hindsight, letting us see our missteps with
such clarity.
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